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General Instructions to the Candidate :

1. This Question Paper consists of 40 objective and subjective types of

questions.
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2. This question paper has been sealed by reverse jacket. You have to cut on
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the right side to open the paper at the time of commencement of the

s3

examination. Check whether all the pages of the question paper are intact.

TEAR HERE TO OPEN THE QUESTION PAPER

3. Follow the instructions given against both the objective and subjective

types of questions.

4. Figures in the right hand margin indicate maximum marks for the

questions.
|
5. The maximum time to answer the paper is given at the top of the question |
[
paper. It includes 15 minutes for reading the question paper. :
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L. Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

8x1=8

1. I U=1{1,2 3, 4,5 6,7, 8, A= {1, 2, 3} and B= {2, 3, 4, 5}

then (AU B)' is

(A) {5, 6, 7}

B) {6, 7, 8}

€ {3, 4, 5}

D) {1, 2, 3}

2. LCM of 18 and 45 is

A) 9
B) 45
(©) 90
(D) 81
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3. The mean (X ) and the standard deviation ( ¢ ) of certain scores are 60

and 3 respectively. Then the co-efficient of variation is

@A) 5
B) 6
© 7
D) 8

4. Rationalising factor of ,/ x—-y is

A x-y
B Jx

© Jx+y
(D) x-y

5. If f(x) = x> -2x+15 then f(-1)is

A) 14
B) 18
(© 15
(D) 13
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In a circle, the angle subtended by a chord in the major segment is

(A) a straight angle

(B) aright angle

(C) an acute angle

(D) an obtuse angle.

The length of the diagonal of a square of side 12 cm is

(A) 542 cm
(B) 144 cm
(C) 24 cm

(D) 12{2 cm.

The distance between the origin and the point (- 12, 5) is
(A) 13 units

(B) - 12 units

(C) 10 units

(D) 5 wunits.
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II. Answer the following : 6x1=6
9. Write the value of 100P0 .
10. What is the probability of a certain event ?
11. Find the mid-point of the class-interval 5 - 15.
12. Find the value of cos 48° — sin 42°.
13. Write the slope and y-intercept of the line y = 3x.
14. Write the formula used to find the total surface area of a solid hemisphere.
III. 15. If Aand Bare the sets such that n(A) = 37, n(B) = 26 and
n(AUB)= 51, find n(AN B). 2
16. Write the formula used to find
a) arithmetic mean between a and b (a> b)
b) harmonic mean between a and b (a> b). 2
17. Find the sum to infinity of the geometric series 2 + % + % +oeee . 2
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18. Prove that 3 + ‘/E is an irrational number. 2
19. Find how many triangles can be drawn through 8 points on a circle. 2
20. If L + 1 _x then find the value of x 2
' 8! 9! 10! '

21. A box has 4 red and 3 black marbles. Four marbles are picked up

randomly. Find the probability that two marbles are red. 2
22. Calculate standard deviation for the following scores : 2
5 6, 7, 8 9.
23. Solve x?-2x-4 =0 by using formula. 2
OR

Determine the nature of the roots of the equation x%2-2x-3 = 0.

24. In a circle of radius 3:5 cm draw two radii such that the angle between

them is 80°. Construct tangents to the circle at the non-centre ends of

the radii. 2
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N AN
25. In AABC, Dis a point on BC such that BAC = ADC. Prove that

AC? = BCx DC. 2

OR

AN
In SN ABC, ABC =90° and BD 1 AC. Prove that

AB® _ AD
BC2 CD
A
D
B C
26. Find the value of sin 30° . cos 60° — tan? 45°. 2
27. Find the radius of a circle whose centre is (- 5, 4 ) and which passes
through the point (-7, 1). 2
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28. The radii of two right circular cylinders are in the ratio 2 : 3 and the ratio

of their curved surface areas is 5 : 6. Find the ratio of their heights. 2

29. The radius of a solid metallic sphere is 10 cm. It is melted and recast into

small cones of height 10 cm and base radii 5 cm. Find the number of small

cones formed. 2

30. Draw a plan by using the information given below :

[ Scale : 25 metres = 1 cm |

Metre to D
200
125 75 to C
100 to E 75
50 25to B
From A
2
IV. 31. Rationalise the denominator and simplify : 3
J6 + 3
Je- 3
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32. Find the quotient g ( x) and remainder r( x) on dividing

p(x) = xS +4x% -5x+6 by g(x) = x+ 1 and hence verify

p(x) = [g(x)xqg(x)]+r(x). 3

OR

Find the quotient and remainder by using synthetic division :

(4x3 —16x% -9x-36) + (x+2).

33. Find three consecutive positive integers such that the sum of the square of

the first integer and the product of the other two is 92. 3

OR

Sum of the squares of any two numbers is 180. If square of the smaller

number is equal to 8 times the bigger number, find the two numbers.

34. Prove that “If two circles touch each other externally, the centres and the

point of contact are collinear”. 3
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35. In an equilateral triangle ABC, AN L BC, prove that 4 AN 2 - 3AB%. 3

OR

In AABC, AD L BC, prove that AB2 +CD? = AC? + BD?.

36. Prove that tan2 A - sin2 A = tan2 A. sin2 A. 3

OR

From the top of a building 5043 m high the angle of depression of an

object on the ground is observed to be 30°. Find the distance of the object

from the foot of the building.

V. 37. The sum of 3rd and 5th terms of an arithmetic progression is 30 and the
sum of 4th and 8th terms of it is 46. Find the arithmetic progression. 4
OR

If the fourth term of a geometric progression is 8 and its eighth term

is 128, find the sum of first ten terms of the progression.
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38. Solve x2-2x-3 =0 graphically. 4

39. Construct a pair of direct common tangents to two circles of radii 4 cm and
2 cm whose centres are 8 cm apart. Measure and write the length of the

direct common tangent. 4

40. Prove that “If two triangles are equiangular, then their corresponding sides

are in proportion”. 4
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